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Part A
L (10%) & f(x)=x* & [-z,7] % 11§ i (Fourier series)

2. (15%) ffd— # @ A2 e 4oif B B0 AL

2
au—kg—-,0<x<1t>0
ot ox?

#hEE u0,t)=0, ul,t)=0, t>0

A7 40 1% 2 y(x,0)=sinx 0<x<1

3. (20% ) 4% f(-x)= f(X) Rl f(x) %ﬁ- % I #ic(even function) 5]4ecosx * 4%k f(- x):_f(x)ﬁ f(x) 756-,1 0 $ic
(odd function) 5{4esinx > 4 3 f (x)_—[f(x)+ f(-x) ° f (x):—[f(x)—f( x)] * FEE R T AT
(@) #F f (x) » & S f(x) =+ xﬁﬂc(ﬁmp Pt (=)= (%) > fo(=x)=—f,(x))
(b) P E— ST G L0 S fictd Sl foode. f(x)=f n(X)+ fo(X)
(c) B f(x) » ¥ 2L P B dodie s RIZEP f (B fo(x) s » ¥ 2L e (Fm: f(x)» ¥ 2L Y
Sl P f(-x)~ ¥ B oLk B Sik)
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(d) f(x) 5 % B2l en% 8 Sl (—Lax<l) @ & & E s f(x)_7+2(a cos”fx+b sin”T”X) DR
9 & Ev S N ¥ a.o NzX . a() Y 2.
o () B fo(x) & F13E el =] 5 fn(x):7+2an cos—— fo(x):ansmT (#7 e LS
n=l1 n=1

Part B
4. (10%) 3452 x%+ y = x2y?
X

e g m 02y dy
5. (10%) 3-He 9V _ oX
(10%) 3 o2 2 +y=
1 1 1
6. (10%)7#F [a b c|=(b-a)c—a)c-b)
a’? b> ¢?
2 6 1 X, 7
7. (15%) £A=|1 2 —1|>x=|x| b=|-1]
5 7 —4 Xs 9

(@) %" A £ F 5224 £ (nonsingular)? F#ip? 2 o
(b) Z4EE A % 2k Bens il 5 gt A
(C)&f%: Ax=Db -
8. (10%) 4% det A =0 PIA 5 # £ 4E"L(singular matrix) * 377EP A B 5 nxn“E"L » FASBL # £ 4EL > JJABZ

+ 242 if det A =00r detB=0= det(AB) =0 ° (3 7 :det(AB) = det A - detB) °



